TEE LEARNING TEE LEARNING
COMMONS COMMONS
POWER-ROOT TABLE POWER-ROOT TABLE
The square The square root The cube The cube

(2nd power) (the root of 2) (34 power) root

(x)? (Vx) ()3 (Vx)
0°=0-0=0 =0 02=0-0-0=0 30=0
12=1-1=1 =1 ¥3=1-1-1=1 Vi=1
22=2.2=4 =2 22=2.2-2=8 V8=2
32=3.3=9 =3 33=3.3.3=27 V27 =3
42=4-4=16 =4 43=4.4.4=64 V64 =4

> =5:5=25 =5 53=5.5.5=125 Y125 =5
32:2:3:22 :3 6z=6-6-6=216 2216=6
Sos o5 | Vesos

92=9.9 =81 =9 e : =
102 = 10- 10 = 100 - 10 9°=9-9-9=729 729 =9
112 = 11-11 = 121 103 =10-10-10 = 1000 | /1000 = 10

122 =12-12 = 144
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132 =13-13 =169
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NEGATIVE ROOTS

14% = 14 - 14 = 196
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152 = 15-15 =225
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162 =16-16 = 256
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172 =17 -17 = 289
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Rule: ¥—x and 5\/—x exist, but
V—x and \/=x cannot be done with integers.

Example: Y—8 = =2 and V=32=-2

V=4 % +2 V=32 = 2
132 — 13 ' 12 — 22‘: =18 This is true for all odd and even roots.
=19-19= =19
202 =20-20 =400 400 =20 4th power Sth power 6th power
4 5 6
NEGATIVE POWERS gx) gx) gx)
Rule: (—x)? # x2 04 =0 05 =0 o6 =0
Example: (—2)% # —22 1" =1 1°=1 1°=1
(-2)2=-2--2=4  -22=-2.2=-4 2* =16 25 =32 26 = 64
4+ —4 3* =81 3°=243 | 3°=1729
(3)P=-3--3=9 | (7)?=-7-7=49 4* =256 | 4° =1024
(-9)*=-4--4=16 (-8)2=-8--8=64 54 — 625

(=5)* =55 =25

(-9)2=-9--9=81

(—6)*=-6--6=36

(-10)2 = =10 - —10 = 1000




